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ning a medal until | told him
until | told him my winning

Stman/ at the door,/ knocked! to answer ¢
tman knocked to answer it Sonu ran at the door
ran at the door the postman knocked to answer
‘door knocked at the postman, Sonu ran to answer it

knocked at the door, Sonu ran to answer it

e/rich/Mimi/is/is/proud/not

Th 1 she is rich, Mimi is not proud.

She is rich though Mimi is not proud.

* (c) Mimi is rich though she is not proud.

(g Though Mimi is rich, she is not proud.

R o noiets the following passage by choosing the correct option from

idea that a healthy plate of food (16) feature several different

T

52 17) o cxemple (19) an old wive's tale (19)
hl'“;“”“'tﬂbﬂﬂmadm.mmdm} vegetabies
different antioxidants they
wofil (c) may (d) might
<t good (c) clear (d) dry
(b) for (c)in (d) to
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21.

22.

23.

24,

25.

Vi
26.

Choose the opposite word of the following:

Recede _

(a) Rush *(b’)/A‘dVa“W (c) Approach (d) Forward
Ancestors

(a) Supporters (b) Disciples (c) Followers \(ﬂf Descendants
Tranqurent ; |

(a) limpid (b) coloured wﬁpaque (d) forthcoming
Participate

(a) join \ﬂ?ﬂlﬁii (¢) cooperate (d) play
Disapprove

(a) reject ] allow (c) refuse (d) disallow

Choose the correct meaning of the idioms/proverbs given below:

To clear the air
(a) to work hard - (b) to wash properly
to remove tension (d) to create confusion

27.  Pillar to post

28.

29.

Vil
.

32

driven from one place to another (bi very tiresome journey
() main supports of a building (d) clumsy looking object

To smell a rat
(a) To see signs of plague epidemic  (b) To get bad small of a bad dead rat

o suspect foul dealings (d) To be in a bad mood

To be abové board
(a) To have a good height (b) They have no debts
{w);‘g be honest in any business deal (d)Totrytobe beautiful

Stick to one’s guns _
maintain one's stand under attack  (b) suspect something

(c) make something fail (d) be satisfied

Choose the word which best expresses the meaning of the given words:

Conceal :
(a) reveal (b) hilarious {ef hide (d) harm
Emct o - A raranua (d) disperse
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34, (Es)tablish
a) di i
sorganize (b) displace Joyfsti
b ??t;reviate | i () neglect
a) le :
¥ Haten by horter (c) lighten
i - £
Booss the sorrect fiNine: (d) abandon
36. (@ Millennium (b) Millinium ()
¢) Millenium i -
29 ML £ o (d) Mitennium
2 u pendant  (c) Independint (d) Indipendent
: \(.a'f Miscellaneous  (b) Misscellaneious i
E (c) Misccelaneous  (d)Miscelaneous
. (a) Embarass (b) Emb '
_ arase (c) Embaras \M/E(mbarrass
40. (ayHumorous (b) H
) Humurus (c) Humorus (d) Humoros
IX. Give one word for the following:
41.  The act of murder of a human being:
(a) Suicide (b) Matricide ici
icide (c) Patricide \_ma’ﬁomicide
42. One who travels by foot
(a) Traveller (b) Stickler .(.zj/rf’edestrian (d) Disciplinarian
43. A study of birds
(a) Archaeology  (b) biology (c) Zoology (dyOrnithology
44. A life history written by oneself
@yAutobiograPhy (b) biography (c) Archaeology  (d) Diary
45. Theart of tiling the soil
(afAgriculture. - (b) Pisciculture (¢) Horiulture () Aplculture
X.  Read the passage carefully and answer the questions that follow:
Yoga is an art and science of healthy life. It is a system of exet"tlnsd& which had
| Yogalsan A o some 2000 years ago. The wise men called ees LO
its origin in anc lized that unless the body was kept

engaged in the p
healthy, the mind woul

ursuit of knowledge. They rea
d not be alert and intellect would not be sharp.
s lived in harmony with nature. The seers evolved 2

imal A 3
They observed how the ani S e on nature. The Sanskit w ord 'yoga' is derived

system called yoga

from the root 'yuj' W : s i
: f physical, mental and spiritua
God. Yoga is a group of P Yoga. He collected the t

considered as th

to genera
handed down from generation t0 9 4 age do not come.
lert intellect.

as one to Wn
and satisfacti

, which was

hich means It is the unity of man with Nature of

isciplines. Sage Patanjali is
houghts of different sages
Sutra. 'A yogi is described
His mind is full of peace

to join or to unite.

tion in his 'Yoga

death and ol

disease€, :
yer) pple body and @

on. He has su
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W /g
N
51. W%M

ighest 3 |
POpulation densgj bl ; '
high _ " HelaT arey I 1521 ks
. ) density jn India» o Tlar 7r g ? I Which State has th,
& s the

- est Benga
) Aitar Praced (b) erfarererrs /Tamilnag
B0 re)s (d) dierere / Maharashtl:a

S3.  steRNE
DT TSRTE wptey 39 :

(@) defl 7rft /Baby Ranj /Whois the Governor of Rajasthan?

(€) 31eict de1 yagy /Anandi Ben Pate| ﬁi&ﬂa &Fﬁfﬁm |
5 Tifee St ) 15T /Phagu Chauhan
the practice of ‘Saty’ during?ﬂg?ﬁsh perizz:mqa 7 SETEI? [ Who abolished

(2) seretsfi/ Dalhousie  (b) At / Wellesly

dfews /William Bentinck (d) gt / Mayo

85. '
fotast 3t & wla o fereger w1 gparrerd 82/ Which one of them is not a good

conductor of electricity?
(a) Ticl / Silver (b) araar /Copper

(c) ecegfdifererat /Aluminium © (AR Mica

T3 ARTSAT W AT FUTe &7 AR F1 &2 What is the longitude of a place

56.
on the prime meridian? .
@res (b) 180° (c) 90° N
57. % anfae f&g------ & T3 A1/ Guru Gobind Singh was the son of------
\(39’@1? d9TggIgY/ Guru Tegh Bahadur  (b) 7% 375tereal Guru ArjanDev
(c) I¥ &XNTde/ Guru HarGobind (d) 9% &A= Gury Nanak
58.  URalt & arpEise 3 AISEIS T U R §2What s the percentage of
itro én in atmosphere of the Earth?
e (a) 75.03 (b) 76.03 (c) 78.03 \@78.05
59 zﬁ‘rwﬁmaﬁ?mmmm%mqﬁﬁaﬁmzﬁrmwm
- ; ' bove
gare Y@r @ 16 faell 1 Fars oX Feya &7/ What is the name of the layefr a e
h is located at the height of 8km from poles and 16km from

Earth's surface whic
7 .
muato(r;) Farehrat/Mesosphere (b).mqmﬂ_mtmosphereh
N LLiGES (d) FATIHSH/Stratosphere
ere .
/Troposph -
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(i) A B, C. D 3% E ura qom o Hed ™ )
P 3itz Q uia afeene qecl dfte & waweiae godt dfis & e ot site g sob 48
2/A, B, C, D and E are five men sitting in a line facing to south - while M. N, O, P and

Q. are five ladies siting in a second line parallel to the first line and are facing o

North.

(i) B. 57 D & 3w aid 3¢ £ O % 1Gudhal 1 /8 who s just next 1o he 16 o1 B,
ite to Q.

(i) C .'%N@@?*mwﬂﬂﬂﬂmmam

s & oppouie 150 WhG & il et 1Pt o

(iv)E O
' TR T RO e |
D e O G A o e e .
142 oéma&ﬂmwﬂnhwmmmunmdm
. fi;’ﬁ () der sl & Data inadequate
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o S

.
Ao oy g0, 8. 9,
Bioits %?/The sum o it TR v 3R e
'0.5,9 2is th’eﬁ"f‘lallegta ﬁmﬁmuﬂmﬁm
(a) 2058 < > : Nd greatest five digit numbers formed by the
b) 9857
162, ¢ (c) 101108 N7 &L
i Sk 119109
SXPression 2.5 . o g x-;l 2-50);)2'1‘ 0.05 ®1 amer wrr @2 / Find the value of the
.45 e
(b) 49,95

163. e (c) 0.25 (d) 100

Seah & :
BT T 1t gy a O ) el 108 e oifrer et ok 3 P

sho /A man b :
uld he sgj| the watch so as to gain c‘:ggsh‘t? sl on

- MRseg \(57Rs 605 (d) Rs 575

- 54, 36 3t 24 @ e _

common divisor of 54, 36 and 22?; T s e v
e ()3 ©9 16

s ot

=+ =+ 4+ 2 o eiter cemeon & wres o2
2 v 2

Express in decim 3 LS
p als the AU Of 10 % 10 100 100

(a) 0.3272 by0.59 (c) 0.329 (d) 0.572

166. U TN ® 19 3 a1 2t 4R ETwet 5 i uwet oft 5 3ian &, &t T A
@311/ On dividing a number by 19, the quotient was 5 and remainder is aiso 5, find

ber?
3 "uTa)eéo (b) 95 (c) 105 700

167. 678.765 3 51 TRGH AT &A1 27/ The place value of 5 in 678.765is?

© N @50

5
e, 1000
@ o0

qectt gie 3Tl w3t @f 3itwa @ &2/ The average of first five prime
168. X -

numbers is:- (0) 7.8 Y55 @) 8.7

(a) 3.6 | F
_ — (c79a7) @111 &2/ Which of the numbers are twin prime?
169. w q{cﬂ(;ﬂ?& 25) (e) (11, 17) (d) (23, 62)

)
o & vier si® anden. rEd 363504, 11 A guicRn

170 ij’f : ﬁr;fqﬁhat |east value must be given to * sO that the number 3'63504 is
fa Ry _ |
divisible %”? (b) 2 ()3 ; vﬂﬁ

(a o
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.4

g ure et o ferdl fooer farer ot % 2 faanfSra fosan sen enf&?/ Wihat fraction

fould be divided by = to get 2 ?
F b 5
OF () 2 oL @)=

81. maﬁﬁw.m%ﬂhﬁﬁaﬁwesh 1030 @t afrat fen 5173 &t et
et 3 Slumer 6 aatl/Find out the greatest number which divides 486 and 1030

aving 6 as remainder in each case.
f \ g;aj. gﬁ (b) 30 (c) 64 (d) 80

oo ael @1 afvey 32 atex &, d ! A1Fwe s @Yl/The perimeter of a

quare is 32 meter. What Wyits area?
(a) 160 m%/aft* 64 m? faft’ (c) 128 m?/afl’ (d) 96 m? faff’

183w 3w o e adl it e O i & dta @ siow e Sy Find
~ the difference between the largest and smallest number of five digits?
i (a) 99999 (b) 98999 (c) 89899 2189999

number which can be formed gy 3, 8, 7, 97 |
(c) 9783 (d) 3789

(a) 8973 9873

185, = favgei ¥ fpe YEri freer @ ?/How many lines can be drawn
tmou{w 0 (b) 2 (c) 3 (d) Not possible.
; m-éﬁmmﬂﬁfﬁwmmﬁzmmséﬁsﬂz

186. U wdADIvT Hragst |

4 #aft &11/Find the area of a right angled triangle whose base and perpendicular are
nd 4 cm respectively.

T80 8 o i 6 emiAst  (c) 7 cm?l Al

(a) 10 cm?/ Tt

187. Feraer TizeT3N & qod GF D mméﬁaﬂaﬁ%ﬁﬂ%‘?
Choose the correct option if numbers are arranged in ascending order
52806, 52086, 52860, 52800, 58260.
(a) 52086, 52806, 52860, 52800, 58260
(b) 52800, 52860, 52086, gagggggggg

800, 52806, 52860,
it 52086, 58260

(d) 52800, 52806, 52860,
- 15aéélaaaﬁa‘rm“tmm:1zaﬁsﬂmsaﬁ

aife ftet mfﬁ mﬁmﬁ%ﬁ The average age of three sisters is 15. If (%

o aal @ A il
gat et : {ers are 12 years and 15 years respectively, the age of the third siste
two sis

(b) 17 years/ad A Byearsird (@) 18 yearsi™

(d) 5 cm? A’
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+10) - {(12 x 8) + (34 - 10)} &1
“Fmd the Value of (700 + 10) = {(12 x.
T ) eh (b) 68 -

191, 10 wifen 15 fer & v oy @ g BT WA €
fascret fReit & @¥a12/10 persons can finish npke:eofmk. 1

ays the same work can be done by 25 persons’
d“"’@?m )12 (c) 15 g .
192 maamﬁmma@asmamwwdw
measures of three an%les can be those of a triangle? 69“ g

: (b) 52°

fn) a2, 69”. 760 () 132°, 168°, 59°
193. z’ramsms DXLIX @t 3rzeft 3ip 3t ferzal / Write Roman numerals DXLIX in
Arabic numeral _

(r:; 560 ‘Mag Cloee (d) 469

194. Mmﬁsmmﬁssﬁsémmﬁ%1ﬂm% ol g sfea a2l
#ten?/A number is reduced by 5 and then multiplied by 3, the result is 111. Find the

nummg) 40 (b) 35 (c) 45 .@ﬁz

195. "'mmﬁwwgemﬁlmﬁﬁrﬁm@mm&ﬂ%

| a’ta}w&m:ﬂﬁma a‘ra;arﬂmm | feT 3R 77w & 7 IR foaef & -
Jennifer and Joseph together have Rs90. If Jennifer gives Joseph Rs20 then Joseph
will have twice as much money as Jennifer. Original amount of money Jennifer and

Joseph haye is: .
) Motz = 50 T, FRE =40 TTA /Jennifer =Rs 50, Joseph = Rs 40

(b) SfeTeT = 60 TTY, SV =20 T [Jennifer =Rs 60, Joseph = Rs 20
(c) Stferz = 25 F4A, AAT =40 TGA Jennifer = Rs 25, Joseph = Rs 40
(d) Sifepe = 30 T0A, FRAE =45 TTA /Jennifer =Rs 30, Joseph =Rs 45

196, THWBIOT 3(3x - 6) + 4(4x + 3) = 45x — 166 W &6T wea G 'x' H AA &/ By

solving equation 3(3x - 6) + 4(4x + 3) = 45x - 166, value of 'x'is |
(a) 16 8 (c) 12 (d) 14

107 27 @ Gt et et N oot er T WA 3 @ A fremr &1 Find the

sum of all numbers less than 27 which are divisible by 9.
(a) 18 (b) 54 _ 49)4%

L 1/DEC/2ua1/SET B/CLASS = VI

(d) 36
- Page 28 of 32
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